

Spatial variation in the S.W species diversity of oriental garden lizard of mangroves & home garden in Madhepura district of Bihar, India

Pranav Kumar Pratap*

P.G. Department of Zoology, B.N. Mandal University, Madhepura, Bihar, India

Received : 20th May, 2017 ; Revised : 27th July, 2017

Abstract : The natural profile of species diversity at habitat level & biodiversity at biospheric level always displays temporal & spatial variation in time and space, hence is a dynamic function. Therefore it is mandatory for researcher to undertake spatial (geographical) and temporal (time specific) mapping of the species diversity to investigate the degree of variation. The present article being the part of continuous mapping of lizard faunal diversity of Madhepura urban conglomerates done during the years 2014-2016 targets to unravel the spatial variation of garden lizards found in two different habitats - home garden and mangrove. Oriental garden lizards being an important member of lacertilian reptiles are subjected to population wise threat & endangerment due to multidimensional unmindful anthropogenic interference. The article brings on record different species of garden lizards present in specific terrestrial habitats such as home garden & mangroves of Madhepura. Six different species have been identified from these habitats & their cumulative species diversity index through Shannon-Weiner equation (S-W) have been statistically computed on the basis of species abundance & richness recorded numerically during the sampling without sacrificing any live individual (IBML) so that none of the species get harm during the research.

Keywords : Spatial variation, S-W diversity, oriental garden lizard, mangroves

INTRODUCTION

Immense diversity in our biosphere exists not only at the species level but also the biological level that ranges from macromolecules within cells to biomes. As we know that the word biodiversity is the most common word reflecting species diversity and species richness, the rapid change undergoing is due to climatic variations and other human influences.¹ Spatial variation in pattern of biodiversity result in change of their distribution, leaving of the local communities, extinction etc.^{2,3} Changes occurring in the community composition of any organism are however not necessarily associated with the changes in species richness if any gain or loss of the species are

*Corresponding author :

Phone : 6201581266

E-mail : pksirmumbai@gmail.com

balanced.⁴⁻⁷ However it can be adverse in the places where the intensity of land use is seen higher, it could result in decrease of species richness.⁸ Significant geological events, such as the formation of mountain ranges, are often treated as a source of long-term biogeographical barriers.⁹ In some cases, however, distinct geographical patterns can arise without obvious geographical barriers (e.g ecological divergence, geographical distance, competition) among populations.¹⁰ Ecological interactions of organisms with their environment play an important role in population divergence and speciation.¹¹ The use of such data in ecological niche modeling has provided insights into speciation and diversification in relation to environmental factors. Therefore it is very important to incorporate ecological data into studies of mechanisms

Biospectra : Vol. 12(2), September, 2017

An International Biannual Refereed Journal of Life Sciences

RESULT & DISCUSSION

driving diversification and demography.¹² Hence disturbance of the habitat is considered as one of the important anthropogenic factor influencing the ecosystem at high speed caused by human activities in natural habitats.¹³

MATERIAL & METHODS

Spatial variation which is considered as one of the best key to study about the ecological status of any organism, here in this paper study on diversity with reference to spatial variation of oriental garden lizard was done so that the result which may be obtained from the analysis would be anyhow useful to know the current status of the species and could bear in taking of special conservative measures for the protection of the fauna of that particular area.

For this, study was conducted in two different sites mangroves and home garden of Madhepura district during 2014-2016 as also mentioned in the previous paper. The study was carried out between 11 am to 2 pm when the temperature was favorable for the reptiles. Since lizards are model organisms for ecological studies and easily handled not too many precautions were required. The photographic image and few videos were also taken so that it could become easy to examine and identify the species without interfering the IBML that says none of the species should be harmed during research activities.

As observed in table no. 1 six different species were encountered during the field study namely- Eutropis carinata, Ophisops jerdoni, Mabuva macularia, Eutropis macularia, Calotes versicolor & Sitana ponticeriana from two different sites of the Madhepura district, which includes mangroves & home garden. Among these species sampled Calotes versicolor were among the highest species found but only from the site 1 while in site 2 i.e. home garden Sitana ponticeriana were among the highest of all the other species. When diversity of both the sites were compared species from different mangroves were statistically highest having S-W diversity index (&) as 0.7594 which shows that population of the lizard species is not rich but their abundance is high as it should be. While the numerical data of the home garden showed lower abundance & higher richness of the species with respect to the former having diversity index 1.1049. As per species diversity interpretation index if, the obtained diversity value of the species is less than 1, all the species of the lizards will diversified with less survival risk whereas the value being more than 1 denotes the less diversified species present in the habitat with greater survival risk. Thus specific measures are compulsory for the protection of these species in urban areas of Madhepura so that ecosystem get balanced.

SI	Name of the species	Family	Average no. of sampled	pi(n/N)	log pi	pi*log pi	н
no.			individuals per unit area				
1	Eutropis carinata	Scincidae	5	0.151	-0.821	-0.1239	
2	Ophisops jerdoni	Lacertidae	6	0.181	-0.742	-0.1343	1
3	Mabuya macularia	Scincidae	3	0.090	-1.045	-0.0940	
4	Eutropis macularia	Scincidae	6	0.181	-0.742	-0.1343	0.7594
5	Calotes versicolor	Agamidae	8	0.242	-0.616	-0.1490	
6	Sitana ponticeriana	Agamidae	5	0. 151	-0.821	-0.1239]
	Total		N = 33				

 Table 1-Site specific species diversity of different species of garden lizards sampled from Madhepura district sampling sites-different mangroves

Table 2- Site specific	c species diversity o	f different specie	es of garden	lizards	sampled i	from 1	Madhepura
	district sam	pling sites-diffe	rent home g	garden			

Sl no.	Name of the species	Family	Average no. of sampled	pi(n/N)	log pi	pi*log	Н
			individuals per unit area			pi	
1	Eutropis carinata	Scincidae	3	0.12	-0.920	-0.1104	
2	Ophisops jerdoni	Lacertidae	2	0.08	-1.096	-0.0876	
3	Mabuya macularia	Scincidae	4	0.16	-0.795	-0.1272	1.1049
4	Eutropis macularia	Scincidae	4	0.16	-0.795	-0.1272	
5	Calotes versicolor	Agamidae	5	0.2	-0.698	-0.498	
6	Sitana ponticeriana	Agamidae	7	0.28	-0.552	-0.1545	
	Total		N = 25				

Pratap- Spatial variation in the S.W species diversity of oriental garden lizard of mangroves & home garden in Madhepura district of Bihar, India

ACKNOWLEDGEMENT

The author is very much grateful to Professor & Head, Dept. of Zoology, Dr. Arun Kumar, B.N Mandal University Madhepura, Bihar & his supervisor Mr. R.B Jha for their encouragement and support for completing this research paper.

REFERENCE

- 1. Gaston, Kevin J. 2000. "Global patterns in biodiversity". *Nature*. 405(6783): 220–227.
- M. Dornelas, N. J. Gotelli, B. Mc Gill, H. Shimadzu, F. Moyes, C. Sievers, A. E. Magurran.
 2014. Assemblage time series reveal biodiversity change but not systematic loss. Science 344:296– 299.
- M. Vellend, L. Baeten, I. H. Myers-Smith, S. C. Elmendorf, R. Beauséjour, C. D. Brown, P. De Frenne, K. Verheyen, S. Wipf. 2013. Global metaanalysis reveals no net change in local-scale plant biodiversity over time. *Proc. Natl. Acad. Sci.* U.S.A. 110:19456-19459.
- 4. S. R. Supp, S. K. M. Ernest, 2014. Species-level and community-level responses to disturbance: A cross-community analysis. *Ecology* **95**:1717-1723.
- R. Elahi, M. I. O'Connor, J. E. K. Byrnes, J. Dunic, B. K. Eriksson, M. J. S. Hensel, P. J. Kearns. 2015. Recent trends in local-scale marine biodiversity reflect community structure and human impacts. Curr. *Biol.* 25:1938-1943.
- 6. H. Hillebrand, B. Blasius, E. T. Borer, J. M. Chase, J.A. Downing, B. K. Eriksson, C. T.

Filstrup, W. S. Harpole, D. Hodapp, S. Larsen, A. M. Lewandowska, E. W. Seabloom, D. B. Van de Waal, A. B. Ryabov. 2018. Biodiversity change is uncoupled from species richness trends: Consequences for conservation and monitoring. *J. Appl. Ecol.* 55:169-184.

- J. H. Brown, S. K. M. Ernest, J. M. Parody, J. P. Haskell. 2001. Regulation of diversity: Maintenance of species richness in changing environments. *Oecologia*. 126:321-332.
- L. Fahrig. 2017. Ecological responses to habitat fragmentation per se. Annu. *Rev. Ecol. Evol. Syst.* 48, 1–23.
- Avise JC, Arnold J, Ball RM, Bermingham E, Lamb T. et al. 1987. Intraspecific phylogeography: the mitochondrial DNA bridge between population genetics and systematics. Ann Rev Ecol Syst. 18:489-522.
- 10. Avise JC. 2000. Phylogeography: The History and Formation of Species. Cambridge: *Harvard University Press.*
- **11. Darwin C. 1859.** On the Origin of Species by Means of Natural Selection. London: John Murray.
- 12. Thuesen PA, Pusey BJ, Peck DR, Pearson R, Congdon BC. 2008. Genetic differentiation over small spatial scales in the absence of physical barriers in an Australian rainforest stream fish. *J Fish Biol.* 72:1174-1187.
- Hobbs, R. J., Higgs, E., Harris, J. A. 2009. Novel ecosystems: Implications for conservation and restoration. *Trends in Ecology & Evolution.* 24: 599-605.

Biospectra : Vol. 12(2), September, 2017

An International Biannual Refereed Journal of Life Sciences